Subject Code:3350904

Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING- SEMESTER -5 (NEW) EXAMINATION - WINTER-2020

Date:17-02-2021

Subject Name: Microprocessor And Controller Applications

Time: 10:30 AM TO 12:30 PM

Instructions:

Q.1

Q.2
Y, 2

© O 0 G N W o £ 00X D WwuDNDoSPR

o
oo &

(a)
(W)

(@)
(A)
(b)
(W)

Sk wnE

Attempt any FOUR Questions from Q.1 to Q.5.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten. £2H{l SlEURL Ulctoll cltot .
State the types of control actions.

52l VS oll UsR LUl

What are the requirements of a good tachogenerators?

URL 25 wolR2R ol w33l 9 &?

Write the full forms of ALU and ACC.

ALU 3ol ACC ol gt Sl 4L,

What are the functions of registers in a microprocessor?
HBSIYIRQAAUL 2R ol stal 9 B2

Write the full form of DPTR and PSW.

DPTR el PSW etl gct 1l 2l

State at least four advantages of microcontroller over microprocessor.
HISSIWRAAR GUR HIBSIS2ARL 3L HL AL ¥ SLAERA Rl
What is Static RAM and Dynamic RAM?

Uels RAM 4o saualdls RAM g 82

State applications of Stepper motor.

RUR Hl2R ol Guallol seudl.

Write the full form of PLC and SCADA.

PLC el SCADA il gct 131 2l

State the advantages of PLC.

PLC oll $lAELRAL sRU.

Give differences between open loop and closed loop control systems.
WUl U Ul SARS QU AR ol dglald 1.

OR
Draw the block diagram of Gun barrel position control system.

Aot ARA WAlalet $2lct R H ol 6Als SLIAALH ENRL.
Explain position control system using synchro transmitter and receiver.

Ros glotz{le? wa RRARA Gual sl Wolatet $2ld RreH
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Explain how to obtain electrical zero in a synchro with necessary diagram.

Rosl 1 sAsglsct AR 3cll Aa Anag A %33 ugld WA AHesal.

Explain PID controller giving its characteristics.
PID $2lAR Aol 33s231R s U UHAl,

OR
Explain PI controller giving its characteristics.

PI $2lctR Aofl 33sedlRRsu A UHxlA.

Draw the pin diagram of 8085 microprocessor.
OR
Explain in detail the registers of 8085 microprocessor.

8085 HISSIURAUR oll %2 (Arctlx Ul unesA.

Explain direct an indirect addressing of 8085 microprocessor.
8085 HIBSIUIRAUR oll SlARSS VA Bosdse AJULoL AHestal.

OR
Draw the pin diagram of 8051 microcontroller.
Explain data transfer techniques in microprocessor based system.

WSS URAUR A%s ReH ofl 32t 2lotsR 2sollsu UMl

OR
Explain control word for 8255A.

8255A Hl2 SoRlcl ad uuesicll.
Draw and explain microprocessor based data acquisition system.
HBSINRAUR A%S 32l AEARAA R gl WA Al

OR
Draw and explain 3 to 8 decoder.

328 (35152 €13 vl AUl
Explain TCON register of 8051 microcontroller.
8051 HIB5\SoglclRo] TCON %22 -l

OR
Explain TMOD register of 8051 microcontroller.

8051 HIB55e2lARell TMOD 9922 UHslcll.

Compare architecture of microprocessor 8085 and microcontroller 8051.

8085 HISSIUAAR U 8051 HIBH\SoR\AR of WUS25U URWLAL.

OR
Give advantages of PLC over relay based panels.

AA Axs Uslet GUR PLC oil $lAELRA ULl
Draw the architecture of PLC.
PLC o wl(E2sUR €.

OR
Write a short note on applications of SCADA.

SCADA oll GU20 UR &5 olltl Gul.
Draw and explain internal block diagram of 8051 microcontroller.
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8051 M85 5o2lA6ll Boeolct GlEs SLRAAULH ELRL Mol AHLC.

Give the applications of 8 bit and 32 bit microcontrollers.

8 (A2 wa 32 (B2 HB5SRHR oll GUNN WL,

Write a short note on microprocessor based temperature control system.
HIBSDNAUR AS SHURAUR Sopldd @M UR &5 ollul dull.

Explain various functions of SCADA.

SCADA oll [Aldu stall AxsAl.

Explain the instructions of 8085 (i) MOV R,M (ii) SUB R/M (iii) CMA.
8085 o{l (i) MOV R,M (ii) SUBR/M (iii) CMA 83252lc UMl
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